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CBA Practice paper model answers 

Basic Accounting II (BAII)
Practice Assessment 4
Section 1
Task 1

[image: image2.png](a) What entry would be made in the suspense account to balance the trial balance?

Notall errors are disclosed by the trial balance.

(b) Show whether the errors below are, or are not, disclosed by the trial balance by dragging each error to
the appropriate area.

Error disclosed by trial balan Error NOT disclosed by trial balanc Emors.
Recording a sales invoice Recording a bank payment for
in the sales account only wages as a deit ety inthe bank

account and a credit entry in the
wages account

Recording the purchase of
fidures inthe office expenses
account.

Recording a discount allowed
in the sales ledger only.





Task 1, continued

[image: image3.png](c) Show which error is a complete reversal of entries.

Recording a sales invoice in the sales account only.

Recording a bank payment for wages as a debit entry in the bank account and a credit entry in the
wages account.

Recording the purchase of fitures in the office expenses account

Recording a discount allowed in the sales ledger only.

Errors are corrected via the journal.

(d) Is the following statement true or false?

‘The joural is a book of prime entry, which is used to record transactions that are not entered in any
other book of prime entry.

Tue

False





Task 1.2

[image: image4.png](a) Record the journal entries needed in the general ledger to write off the net amount and the VAT.

‘Amount
£

v 3280

Account name Debit  Credit

recoverable debts

vaT v 656

[Sales leager control





Task 1.2, continued
[image: image5.png](b) Complete the journal by showing whether each amount would be in the debit or credit column.

“The Journal

[Capital 23071
lofice expenses 1.215]

|Loan from bank 25,000

[Purchases 5226
IMotor venicle 35.520)
[Motorvenicte expenses 119
IDiscounts received 150

[Fistures and ftings 3000
[Bank 3167
[Bank inerest received 2

[Joumaito record he opening entries of new business






Task 1.3

[image: image6.png](a) Record the wages expense.

‘Amount
£

[Wages expense v 19100

[Wages control

Account name Debit  Credit

‘Amount
£

- I

Account name Debit  Credit

[Wages control

Jr— Amountoonn | croat
[B i RevenveansCustoms. [ 7570] |

[Wages control 7610

(d) Record the Pension liability.

Jr— Ameuntpencredt
E‘u‘vzces control v 1020
s Fension =





Task 1.4
[image: image7.png](a) Identify the error and record the journal entries needed in the the general ledger to:

(i) remove the incorrect entry

‘Amount

Account name %

Debit  Credit

> |Discounts allowed

(il record the correct entry

‘Amount

Account name 5

Debit  Credit

[Discounts allowed

(ii) remove the suspense account balance.

‘Amount

Account name %

Debit

[Suspense





Task 1.4, continued

[image: image8.png]An entry to record the receipt of a bank loan for £12,000 had been entered in the ledger accounts as £1,200.

{b) Record the journal entries needed in the general ledger to:

(i) remove the incorrect entry

Debit  Credit

Debit  Credit

[Loan from bank





Task 1.5

[image: image9.png]Travel

‘Amount

‘Amount
Details o Details o
suspense 38
Suspense

Details Amount e Amount

Motor repairs

642

[Balance bf

284)

Travel

358

Sales returns

Details

sales

‘Amount
3

540

Details

‘Amount
3

sales

Details

‘Amount

3

Details

Sales retums

‘Amount
3

540

Motor repairs.

Details

‘Amount
3

Details

suspense

‘Amount
3

642





Task 1.6

[image: image10.png]Trial balance

v [vl[vl[Vl[v][V[vI[V][V][V][V][V][V][V][V][V][V][V][V]

v

Jpdministaive expenses 2765 2766
[Bank nerest charged [ S
[Bank overaraf 2925 2925
[Capial 7549 7549
[Discounts alowed 300 E
[Loan rom bank 20000 20000
Miscellaneous expenses 523 7623]
jWotor erpenses 3205 3205
[Ofice expenses 7530) 2154
[Petty casn 175 175
[Purchases 5033 50333
[Purchases leager cortrol 50655 50655
[Purchases retums ES ES
[Rentandrates 7500) 7500
[Sales 750.950) 750700)
[Sates fedger contral 130576 130576
[Sales retums 7000) 750
[VAT owing o M Revenue and Gustoms 70.387] 7037
[Wages 36.650) 37514
fratals 272861 272861






Section 2 

Task 2.1
[image: image11.png](a) Enter the details from the cash purchases listing, the trade payables listing and cheque book stub into
the credit side of the cash-book shown below and total each column.

Cash-book — credit side

et Tar pivabes  purchases  repais
lBatance b1 4168
[TanaT Papers v @ 8 o
Roseti Lt v 42| 2| 20
[Page and Page v 950 %50
CRC g v 25 220 20
[Connup Piumbing v 564 o] a7
Frotal i 92| 5900 3 70 60 7





Task 2.1, continued
[image: image12.png](b) Enter the above details into the debit side of the cash-book and total each column.

Cash-book - debit side

[Batance b 75|
[David Dawes B 188 Tag]
[Gregson Lta B B ES ES
Frotar Bl Ed T7ad] T7aa]

(€) Using your answers to (a) and (b) above, calculate the cash balance. Do not use commas when entering
figures in this part of the question.

B 183

(d) Using your answers to (a) and (b) above, calculate the bank balance. If your calculations show that the
‘bank account is overdrawn your answer should start with a minus sign, for example -123. Do not use
‘commas when entering figures in this part of the question.

B 4756

(&) Wil the bank balance calculated in (d) above be a debit or credit balance in Gold Ltd's accounting records?

[Creaitbatance






Task 2.2
[image: image13.png]Date
20x%

Cheque
Number

006020
008021
006022

006023
006024
006025
006026

7110]
2460|
80|

2008]
1004]
109
783
82|

57
11601

33263

A[AlATATATAJATATATATATATATA






Task 2.2, continued

[image: image14.png](a) Check the items on the bank statement against the items in the cash book.

(b) Enter any items in the cash book as needed.

(c) Total the cash book and clearly show the balance carried down at 28 July (closing balance)
‘and brought down at 29 July (opening balance).

() Complete the bank reconciliation statement as at 28 July.

‘Bank reconciliation statement as at 28 July 20XX

[Name:  Leeka Co B4 800
Tundon pic

[Name:






Task 2.3
[image: image15.png]Use the relevant drag items below to:
(a) enter the above transactions in the petty cash-book below
(b) total the petty cash-book and show the balance carried down.

Each drag item can be used more than once. You may not need to use all of the drag items.

Petty cash-book
Debit side
Amount

[Balance bt 120,00 |Newspapers 3830 3630

[T fares 2570 2570

|Conference fee 2400 [400 2000

|Balance cia 3400

120.00 120.00 [00 2000 2570 3630





Task 2.4
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EI Section 2 - Tasks and Questions.

Atthe end of June, the cash in the petty cash box was £16.99.

(a) Complete the petty cash reimbursement document below to restore the imprest amount of

£125.00 0n 1 July.

Petty cash reimbursement

Date: 1.07.20XX

Amount required to restore the cash
in the petty cash box

Two receipts have now been handedto the petty cashier.

Grange Hill Senice Station
VAT Reg No 397 2600 12

3July 20K
Fuel £57.60
VAT @ 20% s included in above amount.

Gross amount £ 57.60
VAT £ 980

Paid cash
‘Thank you for your custom

1J Office Supplies.
VAT Reg No 397 2896 23
6 July 20X
10 boxes A4 copy paper
@ £36.00 plus VAT @ 20%

£43.20 received in cash, with thanks.

(b) Complete the petty cash vouchers below.

Breview

7 [Solution Explorer oax
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[image: image17.png](b) Complete the petty cash vouchers below.

Petty cash voucher Petty cash voucher
Date: 03.07.20XX Number: PC221 Date: 06.07.20XX Number: PC222
Fuel ‘Ad copy paper

Net £ 48.00 Net £ 3600

VAT B 950 VAT B 720

Gross £ 760 Gross £ 20

() Whatis the new balance on the petty cash control account?

£ [2a20





Task 2.4, continued
[image: image18.png](d) Complete the reconciliation below.

‘The amount of cash in the pety cash boxtotals £ [26.30

which reconcile with the balance on

the petty cash control account

Petty Cashier






Task 2.5
[image: image19.png](a) Show whether each entry will be a debit or credit in the sales ledger control account in the general ledger.

Sales ledger control account

lBalance of trade receivables at 1 July 64.750)
Money received from credit customers 56450
Iiscounts allowed 460)
(Goods soldto credit customers 74000
(Go0ds retumed by credit customers 1.260)

(b) What will be the balance brought down on 1 August on the sales ledger control account?

/248,950 debit

/248,950 credit

1£80,610 debit

/280,610 credit

/281,530 debit

/£81,530 credit





Task 2.5, continued

[image: image20.png]{c) Reconcile the balances shown above with the sales ledger control account balance you have calculated in part (a).

£
|sales ledger control account balance as at 31 July 80610
[Total of sales ledger accounts as at 31.July 81070
IDifterence 480

tis important to regularly reconcile the sales ledger control account with the total of the individual
balances inthe sales ledger.

(d) Using the drop down list, ive ONE reason for this.

Tepraverraue - |






Task 2.5, continued

[image: image21.png]Gold Ltd prepares an aged trade receivables list atthe end of every month.

(e) Show whether the following statement s True or False.

The purpose of an aged trade recsivables listis to highlight errors in the sales ledger control account.

True

False






Task 2.6
[image: image22.png](a) What would have been the entries in the general ledger to record this refund?

IVAT control

Atthe end of the last VAT quarter, the VAT conirol account had debit entries amounting to £57,200 and credit
entries amounting to £98,445.

(b) What will be the balance on the VAT control account?

& [a1285





Task 2.6, continued
[image: image23.png](c) Will the balance you calculated in (b) be a debit or credit balance brought down in the VAT control

account?

This is a summary of VAT transactions during the current VAT quarter.

(d) Show whether each entry will be a debit or credit in the VAT control account in the general ledger.

Summary of VAT transactions

witien oft

VAT recoraed n purchases day-book 55,120
VAT recorded n purchases returs day-book 45|
VAT recordedin sales day-book 89,425
VAT recordedin sales retums day-book 208

VAT recorded n cash-book fom cash sales 1.200

VAT recorded in cash-baok from cash purchases 2177

VAT recorded in petty cash-book o)

Journal o fecord the VAT amount of an irecoverable debt o





Task 2.7 

[image: image24.png](a) Using the drop down lists select the most appropriate option to complete the following sentences.

To borrow additional funds on a short term, lexible basis Gold Ltd asks the bank for [an overdra facilty. g
To investfunds on a long term basis Gold Ltd asks the bankfor [a fxed period savings account. v

To reduce the risk of keeping cash on the premises after normal business hours Gold Ltd

uses [a night sate facilty v

To withdraw a small amount of cash from the bank three fimes a week Gold Lid

uses [a cash dispensing facity._|d

To borrow a fixed amount on a long term basis, secured against property, Gold Lid asks the bank

o ST
ot ind n 3 ot sl i ol i s v o [T T o I

Building socisties offer similar senvices to banks.

(b) Which of the services in the drop down listis NOT offered by the building societies?

EEET—





Task 2.7, continued

[image: image25.png](c) Use the drop down list to show the length of time that Gold Ltd should retain relevant banking
documents.






Task 2.8
[image: image26.png](a) Show the most appropriate form of payment for each transaction below, by selecting from the drop
down fist.

The annual payment of vehicle insurance of avarying amount each year. [Directaeot |

Asingle payment of £18 for 3 taxifare.

Atelephone payment to purchase a railticket, which results in the funds leaving the
bank account immediately.

[Debit cara

Amonthly £20 donation to chariy. [Standing order |

Gold Ltd also makes payments by cheque.

(b) Show whether the statements in the table below are true or false.

Ifa cheque is dated for the previous month, the bank will not accept it
for payment.

A cheque must always be signed by two signatories.
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